9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

12 11 27 17 15
13 9 19 10
9 9
7 11 9 7
33 24 8 )
9 i16 13
17 7 T 20
16 16 ) 16
9
T — —
13 3 20 i18 5
= ! =
13 10 6 17
22 17 13 17
5 6 7
11 18 18 6 18
12 10
22 10 11 4
3 9 14 9
= =
7 110 21
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

511191237846
6 |2 3|1 [8[4]19|5]|7
4 1718151961321
25111471916 /|8|3
913178165214
816 (4|32 |1|7]9]5
719151642138
1 182175314 /]6|9
314(619|1|8]|5|7|2
3.2/916 |5 (8|7 |1 |4
6 1 |5|71]2 (43|89
4 17 1813 19|16 5|2
9 6 |1 |57 |34 |28
813 141116 25|97
715121814 (9(1 6 3
5191614 |8 712 |3 |1
1 181712369 4|5
2 14 319 1|58 |7]6
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